Solution 1.16

A new engineering graduate who started a consulting business borrowed money for 1 year to furnish
the office. The amount of the loan was $45,800, and it had an interest rate of 10% per year. However,
because the new graduate had not built up a credit history, the bank made him buy loan-default

insurance that costs $900. In addition, the bank charged a loan set-up fee of 1% of the loan principal.

What was the effective interest rate the engineer paid for the loan?

Solution:

Interest on loan = 45,800(0.10) = $4,580
Default insurance = $900
Set-up fee = 45,800(0.01) = 458
Total amount paid = 4,580 + 900 + 458 = $5938
Effective interest rate = (5,938/45,800)*100 = 12.97%

Copyright © McGraw-Hill Education. This is proprietary material solely for authorized instructor use. Not authorized for
sale or distribution in any manner. This document may not be copied, scanned, duplicated, forwarded, distributed, or

posted on a website, in whole or part.



